REBICELFKRE
REAELFRFEFHREH

. X N NEFIHEERK (BERET)
FER R B4 AEBEX 5D — —
HREE SEREH EREH fEx
AR 17 14 14 1.0
cetnEEn BE# 17 15 15 1.0
CELABEH o=t 6 6 6 10
B 40 35 35 1.0
AR 16 7 6 1.2
J—— BE 12 5 4 13
ERIEUER HAEER cEE 7 2 > 0
B 35 14 12 1.2
AR 11 6 6 1.0
—— BEE 9 5 5 1.0
EfEILEE SEREEK coE 2 3 3 0
B 24 14 14 1.0
AR 23 15 14 1.1
R BE 19 10 10 1.0
IDIRER cHRE 11 5 5 1.0
B 53 30 29 1.0
AR 57 52 49 1.1
o BE 57 55 50 1.1
RErELH(EEXELER) coE 5 5 5 0
H 119 112 104 1.1
AR 24 4 3 13
e BE 19 4 4 1.0
BERBFRH BEAR—YRBEEL C E'%E 2 0 _ _
H 45 8 7 1.1
AR 79 75 64 1.2
mEEREs BE 66 59 36 16
BEPH cER 15 15 13 1.2
H 160 149 113 13
AR 21 17 15 1.1
TR BEE 19 16 11 15
FUTHEBRER C E'*% 19 9 7 13
H 52 42 33 13
AN |
" A ER 43 _ A%*’J#%E#ﬁ(gﬁfﬂ) _
HREE SEREH EREL fFx
AR 2 2 2 1.0
BE 0 - - -
CHRE 0 - - -
5 2 2 2 10
PSRN I S5 AR 4k (DR READD
= =S N 4Ty E%ﬁgﬂ "
TATTHAVFFR EEEK SZEREH AREH fE ik
AR 4 2 1 2.0
BEE 2 1 1 10
CHRE 4 1 1 1.0
= 10 4 3 13




